2. Determine whether the following statements are true or false and circle the
appropriate answer.

‘ (4 marks)
(a) The set {1,1, {1}} has two elements. 6 False
(®) {1} € {1,2,3}. C Tree (Pl

(c) {1} € {1,2,3}.
(d) {4} € {{4,5},{3,4,5}, {3}}.
-(e) {4,5} € {{4,5},{3,4,5}, {3}}.

() 0 € {1,2,3,4}.

(True) False
True (False)
True (False)

(TFue) False

(8) 0 € P({1,2,3,4}). (True> False

(b) {1,2}, {3,4} is a partition of the set {1,2,3,4,5}. True (False)

3. Let A be the set of integers that are divisible by 2; that is,
A = {n € Z | n = 2k for some integer k}.
~ Let B be the set of integers that are divisible by 6; that is,
B = {n € Z | n = 6h for some integer h}.
Prove that B C A. (4 marks)
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4. Let U = {a,b,¢; &._ e, f, g, h} be a universal set with subsets
A= {a,b,c, f,g,h} and B = {b,¢c,d, f}.

Write down the following sets. (3 marks)
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5. Illustrate the following set property by shading the indicated regions of the
Venn diagrams. ,

For all sets Aand B, (A-B)U(B—-A)=(AUB)-(ANB).

, (3 marks)
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